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log () LABJNDuUS triangle lightnesst*

t* he=Yw  nc=100,

t*LAgINDus =IN(A 17 +A2Y)(A2rAon) - (Yad/100<Y<=Y,o)
L ABINDUS =IN(A 1+ A2)/(AgAon)  (X=YTYy)
t*\(3,6)=329,t*,(18)=748,t*\y/(90)=1164

log[t*/t* J=0, m,=0,33

L]
trg=1163,7: , A= 16666, ,~(,1044, ¢=1,00
t416=7:7,51 Ay=0 017, A,=0,0D58 s
°3,6=328,7€ £",=7. B51 Y18 . agr?g"ga"m
1
— i:':-:-:-!:h:-:-:t:

uN=0.2  Ixw=5

LABJINDuS
tristimulus value difference
Yo=Y - nc=100,
L ABINDUs =IN(A 17 +AZNY)(A2rAon) - (Yad/100<Y<=Y,o)
1 AgINDUs =IN(A 10+ A2X)(A2iAon) - (X=YTY)
dY=Agn(A1r+AsnY)=Agn(As+AgX), See CIE 230:2019
dYoq=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
dY,¢=0,08, A =0,017, %,z00058
d¥3,6=0,02 Y,=18, dY=0,0% o

o3
=748 dY,=0,08 dY,/,=0.1044 (¢

. =1

xN=0,2 Xw=5

log (AY/Y) LABJINDU5

_ tristimulus value sensitivity
S=@vr) YotV nc=100

L AgINDUs =IN(A 17 +AZNY)(A2rAon) - (Yad/100<Y<=Y,o)

1 AgNDus =IN(A 10t A2X)(A2iAon) - (X=YTYy)

AYIY=Aon(A1+ARYIY=Ag(A1ntAX) Y
(dY/Y}5=0,3039, A,=0,6666, /,=0,1044, ¢=1,00

(dY/Y)g=0,2044, A 75,517, A=0,0058
(dY/Y} 0,003 V.=18, dY=0,08

"~ application
log(dY/Y)}F-2,34 m,= o,fg, ' range
- ASannl
=748 dY,=0,08 dY,/¥,=0,00441

=l

xN=0,2 Xw=5

LABJINDuS
tristimulus value contrast
Yoc=Yw nc=100

L AgINDUs =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)

tLaBINDUs =IN(A 10t A2 )/ (AoAon)  (X=YTY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

t+,=748 dY,=0,08 Y,/dY,=222
ge SR EI
log(Y/dY)=2,34 m,=0, 13, v 0 -
(Y/dY}g=250 46 7,=0.665R A.—o 1014462, 60-

p

(Y/dY)g=222,40_ 770,017, A0, oos?P ication

YIdY) 147,55 Y, =18, d¥.=0,08
(YIdY} 6= 5 =

=02 xw=5

log (t*/t* ) LABJNDUS relative triangle lightnesst*/t*,

e, h=Yw - -nc=100,

t*LaBINDus=IN(A 17+A2,Y)(A2rAon)  (Ynd/L00<Y<=Y,0)
t*LaBINDUs =IN(A 17+ A X) (Ao Aon)  (X=YTY)
tn(3,6)=3291* ,(18)=748,t*,,(90)=1164
t*g/t*=1,55, Ay=0,6666, A,=0,1044, ¢=1,00
t*1g/t*,=1,00, A\=0,017, A=0,0058
t3 ¢t*=0,43,%,=747,51 Y=18
log[t*/t* ,]=0, m=0,33

1 application
range

=1

log(AY/AY,) LABJINDUS relative

tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDUS =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
t* 1 ABINDUS=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYoo/dY,=4,43, A),=0,6666, A,~0,1044, ¢=1,00
dY;g/dY,=1,00, A ,=0,017, A.=0,0058
dY3 ¢dY,=0,31, Y,=18, dY=75,08 4

t*,=748 d 08 dY,/'r u_=(l '_:_0414"‘

log [(AY/Y) 1 (AYIY),]

LABJNDUS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
tLaBaNDus =IN(A 1+ A Y)(A2rAgn)  (Yad100<Y<=Yyo)
t*LaganDus =IN(A 1t A2 (A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(@YY )of(dY/Y)-1.88, Ay,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g(dY/Y)=1.00, A =0'017, A=0,0058
(AYNVEJ(@YIVILEG Y18 0Y=0.08

Ay
log[(dY/YY(dY/Y)]=0, m=-0,13
1 application
t*,=748 dY,=0,08 dY,/¥,=0,0044;  ZHEC

=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDUS relative

tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
tLagaNDus =IN(A 1+ ALY (A2rAgn)  (Yad100<Y<=Yyo)
tLagaNDus =IN(A 1t A2 X) (A2iAon) - (X=Y1Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

(YIdY}(Y/dY)=1,12, A5,=0,6666, A,=0,1044, ¢=1,00

(Y/dY)g/(Y/dY)=1,00, A ,=0,017, A;=0,0058

(Y/dY} ¢(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

log (T*) LABJNDuUS triangle lightness T*
Y,

T+ he"L*w - nc=100,

T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LaganDus=IN(A 10 A2 X)/ (A2iAon) - (X=Y1Yy)
T (3,6)=329,T* ,(18)=748,T*/(90)=1164

log[T*/T* =0, m,=0,33
L* =49, T* =748

L]
*90=1163,74, A =(#6666, A,=D 1044, ¢=1,00
T*,g=747,51, 1}, 0 17, A,=0,4058
T*3,6=328,76] % 7 }7.51 (=181

1
=l

application
range

Xy =5

CEU51-1A
logAY) LABJINDU5

AY tristimulus value difference
Yoc=L*w - nc=100,
T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LaBINDUS=IN(A 1+ A2)/(A2uAon) - (X=YTYy)
dY=Agn(A1+AonY)=Aon(A1n+AaX), See CIE 230:2019
dYg=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
dY;5=0,08, A=0,017, A,=0,0058 .
dY3,6=0,02 Y,=18, dY;=0,08 X
>
T*,=748 dY,=0,08 dY,/Y,=0, (‘Jl‘+ o
ISR RO =0 application
nge

-
-

o =1

XN=0,2 Xw=5

CEU51-3A
log (AY/Y) LABJINDU5

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDUS=IN(A 1+t A2)/(A2Aon) - (X=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0039, A,,=0,6666, /,=0,1044, ¢=1,00
(dY/Y)g=0.0044, A =0,017, A,20,0058
(dY/Y} 0,070 Y, =18, dY=0,08

application
log(dY/Y)F-2,34 mu——O Tony range

T* =748 dY,=0,08 dY,/Y,= 20,0044
1
=l

XN=0,2 Xw=5

CEU51-5A
log (Y/AY) LABJINDu5

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T aganDus=IN(A 10+t A2X)(AgAon) - (X=YTY,)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

*,=748 dY,=0,08 Y,/dY, 222
log(Y/dY)2,34 m,= O 13- 2 |

(Y/dY}5=250,46 " ». =G,0666, %_o 1074, 85
(Y/dY)g=222,< 5, A=0,017, AZnto oosﬁppﬁca‘"’”
(Y/dY} 6=142,55 Y,=18, dY=0,08

XN=0,2

CEUS1-7A
CEUS1-7N

log (T*/T*,) LABJNDUS relative triangle lightness T*/T*,

*

THT*, Yoc=L* w nc=100,

T*LABINDUS =IN(A 1ntA2nY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LaganDus =IN(A 10tA2 )/ (A2iAon) - (X=Y1Yy)
T*n(3,6)=329,T* ,(18)=748,T*/(90)=1164

Ty T*,=1,55, A)=0,6666, A,=0,1044, ¢=1,00

T g/T*,=1,00, A,=0,017, /4,=0,0058

T3 dT#,=0,43,T4,=747,51 =18

log[T*/T* =0, m,=0,33

L* =49, T* =748 o

1 application
range

=1

CEU51-2A
log(AY/AY,) LABJINDUS relative

tristimulus value difference
NN YomL*yy - =100,

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,1044, ¢=1,00
dY,g/dY,=1,00, A=0,017, A4=0,0058
dYs,gdY,=0,31 Y, =18, dY=0,08 %

CEU51-4A

1og [(AY/Y) I (AYIY),]

LABJNDUS relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(dY/Y}of(dY/Y},=0,88, Ay,=0,6666, A,=0,1044, ¢=1,00)
(@YY )(dY/Y )2 20, Ar=0.017, A,70,0058

=
log[(dY/YY(dY/Y),]=0, m=-0,13 .
T*,=748 dY,=0,08 dY,/Y,=0,0044 ?g’,ﬁ’é‘ga"m

=1

XNn=0,2 Xw=5

CEU51-6A
log [(Y/AY) I (YIAY),] LABJINDUS relative

/Gy =(YIAYY(YIAY), t\}stlnﬂylus value contrast

nc™

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)

(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIdY}(Y/dY)=1,12, A5,=0,6666, A,=0,1044, ¢=1,00)
(Y/dY)g/(Y/dY)=1,00, A=0,017, A=0,0058
(Y/dY}(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)( YldYL] -0, mu 013

application
range

CEUS51-8A

TUB-test chart CEU5; LABINDUS*(Y) & T*(Y), Yn&=(Y&L*)wrcBne &x=1,00, with more data
Lightness, sensitivity and contrasty#0,6666, A=0,017, A=0,0058, A,~=0,104
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